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QUESTION 1

Which ETAUTIL control statement is used to set the same attribute values for a set of objects?
A. MASSCHANGE

B. EXPLORE

C. UPDATE

D. DELETE

Correct Answer: A

QUESTION 2

Forward Inc. is an international logistics company with headquarters in the United Kingdom. You need to decide how
best to implement CA IdentityMinder for this company. You have ascertained that the solution will need to support
approximately 500,000 accounts. Which installation type should you use?

A. Basic

B. Intermediate

C. Large Enterprise

D. Demonstration/compact

Correct Answer: B

QUESTION 3

Which statement about synchronizing CA IdentityMinder and provisioned users is TRUE?
A. User synchronization includes account synchronization by default.

B. Inbound synchronization is configured and enabled on the CA IdentityMinder Server only.

C. Account synchronization updates capability attributes to help ensure that the account has the capabilities specified by
the account template.

D. Strong synchronization helps ensure that global users have the minimum capability attributes that their accounts
should possess and is thedefault for most endpoint types.

Correct Answer: C

QUESTION 4

Which event context information object method returns the name of the person who submitted the task that generated
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an event?

A. getOrgName()

B. getEventName()

C. getAdminName()

D. getPrimaryObjectName()

Correct Answer: C

QUESTION 5

Which two components communicate using a Connector?

A. Provisioning Server and endpoint

B. Policy Server and Report Server

C. User Store and Provisioning directory D. Report Server and Snapshot Database

Correct Answer: A
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